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He derives, Kodesh Kodesh from Ma’aser — YRR WP WP AN

Overview

n"2 maintain that' >v27 015 requires an additional fifth? to redeem it, and that it must
be removed from the house on the third and sixth year of the munw cycle,® just as
1w Wwyn, for they derive *ya1 013 through a w"m of* wp wp from w"yn. Our NdOIN
explains why we still need another 105 regarding *¥27 072 11°75.

mooIN asks:
= (8,15 97 M273) 17993 1895 P93 NI YWIITT 509191 9D N1 19 DN 9INN ON)

And if you will say; if this is so (that we derive the rules of redemption by *v27 07>
from w"vn), why do we need the word @%»¥%;1 which is written by *va1 073, from

which the X723 in 1929272 7252 »92 expounds that 25197 teaches us —
=77 N9 7NN DD PIDdN NVAN 911 $NIDNN

Redeem the °y27 073 and then eat it; we can derive this rule of redemption by 073
*¥27 from this @' of wp wip; why is 27197 necessary to teach this to us?!

NID0IN answers:
= 2113 W YUYNY AT NIN AN SPA 119797 13099 NI KD MIYW NI INT 99D U

And one can say; if we would derive the rule of *¥27 073 177 from the @''13 we
would only know that sy29 11972 is required specifically in the time when @''y%

is separated namely on the first, second, fourth and fifth years of 7vnw -
= 8P YIdY Nava XD

! The first three years of a vineyard the fruits are 777 and are forbidden (even) 373, On the fourth year the fruits are
to brought up to 2°>¥17° and eaten there. However one may redeem the fruits and bring up the money to 2°>21° and
spend it there for food.

2 This actually means a fourth; if the fruits are worth one hundred 2’17, they must be redeemed with one hundred
twenty five o177 (if redeemed by the owner). The additional twenty five 2’17 is a fifth of the total redemption price of
one hundred twenty five o171, This is called a 22%» win.

3 See »-2°,10 (Xan) o127 where the rule of MMy°2 and NWYH N7 is written.

4 Regarding *v21 073 the 7N writes (in 72,0 [2°w17p] ®1p*) that 72 209197 wIR 90 93 7> n°v°377 71w, and by wyn
the 770 writes (in 2,15 [*Mpna] R1p*1) that '7% W2 "3 PORT Wy 2o

3 See footnote # 4 (where the word 0°21%77 is mentioned by a7 o72).

¢ We are to understand the word (2°)71771 as 212’1 or redemption (for the X"71 and the n'" are interchangeable). In order
to eat the *¥21 outside 2°2w17° one must first redeem it.

7 There is no question in the reverse (that why do we need the w"13 if we have 0°91%7), for the w"13 is necessary to teach
us the 0°1>7 of wmin and Mv°2 (which we cannot derive from 0°1%7).

8 On the third and sixth years of u»w we separate *1v Wwv» instead of w"vn. One might think that if it was planted on
the third year of nv nw, so the *va7 year is the sixth year of 7unw when there is no w"¥n, so there should be no 177d
*ya1 either. See ‘Thinking it over’ # 1.
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But we would assume that there is no °¥27 1175 on the third or sixth year of musnw
(since there is no w"v» on these two years), therefore the 770 writes 0°21771 that the rules of 7%°n
*y27 (11°79) applies in all the years.

Mmoo offers an alternate reason why we require the 7w97 from 2°91%::
= P2INYD XYY 13X 1999197 DOINY I509aWn 993 9PN X7 1IN NN RN 71N 1) X

Or you may also answer; if not for 2°21%77, I would have said, why do you see it fit
to derive *v27 from "ww» (with a w"1 of w7p wWIp), let us derive *y27 from noyoaw
(with the same w'"1), and say just as n°y°2w ‘grasps’ the money (used for an

exchange) and the n°v>2w ¥17°5 do not leave and become 771, the same should apply to
yaq -
:(YuYNN 1290) 1T 091N 1INRY DINLNN 290)T INNND YaN)

(however since we derive from 2v91%:7 that it does not ‘grasp’ its money, we can
derive °¥27 from @''y»).

Summary
2"9191 teaches us that *v27 is not 1°"m7 0910, and it is not derived from n°v 2w, but rather

it is derived from Wwyn.

Thinking it over

1. According to m»oIn first answer (that if not for 2°21%77), we may have thought that
nPWIHwa AMI R *va 1079, what would be the rule in those years; would there be a
rule of *¥27, but without 175 (meaning one would have to bring the *¥y27 m7% to
0°%2w17°) or there would be 1179 but no W or M2, or there would be no rule of *van
at all? And how does '2°71%77' teach us that it is not so?'*

2. Why does one answer assume that (without 2°71%77) we would exclude w1 W,
and the other answer assumes it would be P2I177 R¥1 11°KX?

°® We find the word w7p by ny»aw as well (in 22,75 [172] X7p"), where the 70 writes 037 77 WIR X7 221 °3.

19 If one exchanges ny aw Mo (let us say grapes) with apples, both the apples and the grapes retain nv>aw nu1p,
and we do not say that since the apples received n°y»aw nun1p, the grapes should lose that 7w17p and become 1°211 (see
later ®,n1). Without 2°71971, we could argue that the same should apply to *va.

! The term 9171 indicates that the original item of 7w17p becomes 291N it loses its 77T status, which is transferred
to the item with which we redeemed it.

12 Now that we know from 21777 that *y27 (which is not 127 091n), is not like n°¥aw (which is 7 01n), so we do not
derive *¥27 from n°y"aw, we can derive *¥27 from Wwy» regarding Wi and My,

13 See footnote # 8.

14 See mwn nom.
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